Приложение 2

Ответы к разноуровневой самостоятельной работе раздела V.

1 вариант:

1) -1;

2) Корней нет;

3) 16; 
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4) 3; 
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5) 4.

2  вариант:

1) 
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2) 4;

3) 9; 
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4) 2; 
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5) 25; 
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3  вариант:

1) 
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2)  
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3) 10; 0,0001;

4) 25;

5) 4; 
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4 вариант 

1) -8; 1;

2) 4;

3) 2; 
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4) 100; 0,1;


5) 4; 
[image: image11.wmf]4

1

. 
_1514408612.unknown

_1514408614.unknown

_1514408615.unknown

_1514408613.unknown

_1514408610.unknown

_1514408611.unknown

_1514408608.unknown

_1514408609.unknown

_1514408606.unknown

_1514408607.unknown

_1514408605.unknown

